188

D3—F INZEDE AJOvIFZHE)—T

G e _ B W 2y RER A YRR ® .

BP) T-L® 'prel®mlrw B % .l ® ©

IFE BBy EIY2 "7 O 3 @) 6 [000 | 24] 90 |027 |3 4

=8 [MEDOx-_vOXR| 3 @) 6 O |[600 | 92| 43 | 214 |6 1

il TEVSC 2 1 4 3 [133 |96 68 141 |5 2

B | F—LHigh| 1 2 3 4 (o075 | 76| 87 [o87 |4 3

[ F— LB SEEEEEES F—NhEZ = ¥
e 4 — 15 F50 T

D-1 |BEBsEYa =" O 10 — 15 2 F—AHi gh F5EVSC
== 15 8 ) e

D2 |[MEDz=-voOz2| 2 17 — 15 O FEVSC BBy EY1 "7
e 5 — 15 25 =T

D-3|BEBsEYaZ7| O 0 — 15 2 FEVSC F—AHi gh
== 15  — 10 5] e

D4 |MEDTZ-vOR| 2 15  — 5 0 F—AHigh |BEByEY2Z)
e 1 — 15 == T

D-5|BEsEYa2=7| O 4 — 15 2 | MMEDO Tz ZvDOR FEVSC
T 15  — 13 B4 ==

D-6 FEVSC 2 13 — 15 1 F—-—AHigh |[MBEDO2TZvDOX

15  — 3
188

EJ—F INZW2EOE BJOVvIOFHEI—T

&R _ B ®| 2y b A Y B B N

L | T - = - 3 0 - 0 - -

RN 1 4 2 [200 | 66| 59 [112 |5 2

= =8t ‘J\\J\/C 1 2 2 4 |050 | /2| 66 | 109 [4 3

B30 BRIy AVSC| 3 @) 6 O [600 |90 | 35 |257 |6 1

Z2%0 580 @ 3 @) 6 000 |22 ] 90 | 024 |3 4

B F—MhZ i o s = F—NhEZ [ = ¥
e 15  — 4 B4 25

E-1 |®8YazP/\v—| 2 [ 15 — 5 | O gl FEF v IVSC
= \ 10 — 15 5 RE

E-2 |28 VJVC| O 12 — 15 2 | 8F+FvXXVSC [e8YyaZ7P/\L—
I E 1 — 15 ) =L

E-3 |B2ya=7nL—-| O 5 — 15 2 | 28FvXXVSC bl
= ‘ 15— 4 A0 155

E-4 |28 TEIVJIVC| 2 15 — 2 O 988 B8ya1="7/\L—
e 15  — 10 == 5

E-5 |@Eyaz=7nL—| 2 15  — 10 0 Z22ETIVIVC | i+ v AVSC
5 \ 15  — 4 B50 ==

E-6 |28+ v XVSC| 2 15 — 3 0 it 2L TVIVC




288 \
DI—F INFEDE 1«21 )—=2
oW _ S B8R v R A YRR g N
T-AB T lTe Bl x [ Bl % |s B W©
¥ F5VSC 1 2 3 4 |o75 |1 87| 82 [106 |4 3
B2fi|leEya=»PNnL—| O 3 1 6 |0o17 | 67 |1101|066 |3 4
A1 $9571:\y97\ 2 1 4 4 [100 | 99 | 105|094 |5 2
B1fiz| £+ v AVSC[ 3 0 6 O |600 |90 [ 55 [164 [6 1
5 F—AhB 8 s R F—AhB ES il
A2 12— 15 B1fi1 AT
D-1 FEVSC O ] — 15 2 ST+ v AVSC BT Zv DR
B2 13— 15 A1 fI AT
D-2 |@EYazPNv—| 1 | 16 — 11 | 2 [BEIIZvIX FiEVSC
11 — 15
A2H1 16— 14 A1 fi1 B1fi1
D-3 FEVSC 1 10 — 15 2 | B Zv O | E#F v XVSC
10  — 15
B2 11 — 15 B1f1 AT
D-4 |BEYa=7/\L—| O o — 15 2 | 28+ vXVSC FEVSC
A2 15  — 3 B2fi1 AT
D-5 FEVSC 2 15 — 5 O |BEYaPN\L—|MBEDO2TZvD2R
A1 4 — 15 B1fi B2fi1
D6 |[MBEDT=vDO2Z| O 10 — 15 2 | 88+vXVSC [88YyaZ7P/N\L—
288
EJ—F INFEDEL 341 )—2
A _ B__® Ty X RAYEE %] 5
f| T-2% 'BE1Te Bl al= | BElE] == " U
A4pI BBy 52 —)° 1 2 3 4 o751 80| 88 |091 [4 3
B4{i1 I @) 3 0 6 [000 40| 90 |[044 [3 4
ASful F—AHigh] 2 1 4 | 3 |133 |92 | 68 | 135 |5 2
B3| E&tEIVJVC|] 3 0 6 O [600 |91 ]| 57 [160 |6 1
[EE F—AhB B B 2 F—AhB | = ¥
ALRT 13— 15 B3 A3
E-1 BB EY2="7| O 10 — 15 2 227 JIVC | F—AH i gh
B4 0 — 15 A3 AL
E-2 98 O 10 — 15 2 F—AHigh |BB Y27
ALRT 5 — 15 A3 B3fi1
E-3 |BEBsy5Ya2="77| 1 15  — 12 2 F—AHigh | 2&tEJ2VJVC
7 — 15
B4 7 — 15 B3fi1 AL
E-4 98 O 7 — 15 2 22 TIVIVC [BBBsrEYa”=Z)
A4 15  — 8 B4fi1 A3
E-5 BB r&EYa=7| 2 15 — 8 0 it F—AHi gh
A3 6 — 15 B3fi1 B4
E6|F—AHigh| O 14 — 16 2 22T VJVC i)




188
GI—k DJPIU—0DE ATJOVIOFE =D
Py _ B ® By = RAITFE &
2| 7-08 g TelEl A [ (A5 [ F |a| R O
IRE | YT 11— 1 2 3 4 |o75 | 76| 92 [083 | 4 3
=5 |81 JVC| O 3 @) 6 000 |52 90 |o58 |3 4
g2 | AMEF - C 3 @) 6 1 [600 [O7 | 64 [152 |6 1
BX | F—ALHE 2 1 5 3 167 |[100] 79 |127 |5 2
5 F—AhB 8 s R F—AhB ES il
& \ 15  — 13 B30 T
G-1 R 1 ] — 15 2 F—ABE KNESBF - C
8 — 15
== \ 11 — 15 Y RE
G2 |[®&tEZTIVJIVC| O 12 — 15 2 KNESF - C YT 1 —
e \ 12— 15 ] F5
G-3| ©UHFT+1-— O 2 — 15 2 KNESF - C F—AhBE
== \ 5 — 15 =T RE
G4 [B&ETVJIVC| O 5 — 15 2 F—ABiE YT 1 —
& \ 15  — 11 == T
G5 YT — 2 15  — 8 0 28I VJIVC KNESF - C
% 15  — 5 B50 ==
G6| K¥EBF-C 2 7 — 15 1 F—ABE Z2E&TVJIVC
15  — 7
188
FO—F DJO»I)—0% BJOAOVIFZE)—D
B B & DI RTYFE & "
L I - 0 O - 0 - -
B30 | EISESVC 1 2 | 3 1 5 Joeo [90] 97 [093 |4 3
= AR 3 0O [& 1 600 [ 99 [ 57 | 174 |6 1
%ﬁ@ COCONAOYF «V T O 3 ‘| 6 017 60 1 02 059 3 4
=] [TvE—DrIU—| 2 1 4 2 200 | 81| 74 [ 109 |5 2
EE | 7-02 %o ' =2 F-—1% (= ¥
% 15  — 17 B50 T
F-1 EMESVC o) 7 — 15 2 |PvE—-+T»=1)—|COCONAO*F -V T
= 15  — 5 P T
F-2 NILTv = 2 15  — 7 O |COCONAO%XF-V-T| EMESVC
% 15  — 4 % =
F-3 | EMESVC 2 12 — 15 1 |COCONAORF .V T|TwvE—D»I—
15  — 7
== 15  — 10 B4 T
F-4 | ATy hk 2 15  — 9 O |FyE—-Dp3U—| SEMESVC
% 6 — 15 =% T
F-5| EMESVC 1 15 — 9 2 AT v = COCONAOKF +V + T
5 — 15
Y 12— 15 B50 ==
F-6 | COCONAO%F VT O 10 — 15 2 |PvE—-Dp3— TV




288

G3—Fk D7 )—0DE} 1«21 )—2
T-h® T e Bl EIX (Bl [ % = B ©
A2hi|  F—AHE 0 3 3 6 [050 [105]/ 131|080 [3 4
B2fii|FvE—-D73U—| 2 1 5 3 [167 [109] 100|109 [5 1
A1l RKEBF - C 2 1 5 4 [125 |128]115[ 111 |5 2
Biftil AT wv 2 1 4 4 [100] 99 ] 95 [104 |5 3
[El&3 F— LB 8 B R F—AhB = ¥
A2f 4 — 15 B AT
G-1 F—AABE&E 1 15 — 11 2 LT v KNESF - C
7 — 15
B2fi1 16 — 14 Ad i1 AT
G-2 |PvE—DpzU—| A1 8 — 15 2 ANESBF - C F—-—ALBE
10  — 15
A2 15  — 17 A1 B (i
G-3 F—ALABE&E 1 15 — 13 2 KEEBF « C Al IVl
12 — 15
B2fi1 15  — 12 B ADTI
G-4 |FvE—-DP3IU—| 2 15 — 7 0 AILT v F—ALABE
A2 6 — 15 B2 A i
G-5 F—ALABE 1 15 — 13 2 |PyE—Dp31— KESF - C
16— 17
A1 ) — 15 B B2
G-6| K¥EBF-C 1 15 — 7 2 yallVoaiVa e TyE— e IDpI)—
16— 17
2HHE
FO—F JO7»3I)—0D% 3 4f1')—=D
_ B W Ty R RAVEE %] 5
TTLh® rpreTElE [ wlE[E % a & W
Adhi| 2T JVC] O 3 @) 6 |000 | 38[ 90 | 042 |3 4
B4 {77 | COCONAOKF - V- T[ 1 2 3 4 (o075 [ 88 ] 90 [098 [4 3
A3 YT — 2 1 4 2 |200 | 81 67 |121 |5 2
B3fiz| EMSESVC 3 o) 6 1 |600 [103] 63 | 163 |6 1
EE ] 7102 R B = F -0 5 [ = W
A4 \ ) — 15 B3I A3
F-1 |28 TETVJIVC| O 3 — 15 2 SEMESVC Rk
B4fi1 15  — 17 A3 ALTT
F-2 | COCONAO®RF -V -T| O 10 — 15 2 Rk 22t VJVC
A4HTT \ 3 — 15 A3 B3
F-3 |81 VJVC| O 9 — 15 2 YT 1 — SERESVC
B4fi1 10 — 15 B3 ALTT \
F-4 |COCONAO%XF -V -T| 1 15 — 13 2 EMESVC =28tT7VJIVC
8 — 15
A4HTT 3 — 15 B4 A3
F-5 |28 TVJVC| O 12 — 15 2 |COCONAO*F -V T HHF —
A3 9 — 15 B3I B4
F-6 Rk @) 10 — 15 2 SEMESVC COCONAOF +\V + T




188

Aj ~ DJOYVADES A7Du9 =)=

B v RE A YRR g N
P F-oB g cTETE (w5 T w4l B o
II&E PS50 —X] O 3 @) 6 |ooo [ 48| 90 [053 |3 4
=5 XD~ MIE[ 2 1 4 2 200 | 82| 74 [111]5 3
| ~—VAAA 2 1 4 | 2 200 [85] 64 |133 |5 1
=gl SBOSD 2 1 4 2 |20 | 85| 72 |118 [5 2
5 F—AhB 8 s R F—AhB = il
5 7 — 15 BH] )
A-1 | FPDS5D0—-X| O 10 — 15 2 SBOST =V XA
== 10 — 15 58 RE
A2 [RDOZ~ MIE|l O 12 — 15 2 F—V XA RIS —X
e 4 — 15 %3 F5
A-3 | PS5O —-X| O 8 — 15 2 F—V A SBOST
== 15  — 12 = RE
A-4 |RD2Z- MIE| 2 15  — 13 0 SBOST RFhIS5T—X
5 10 — 15 == )
A5 | FPDS5D—-X| O ] — 15 2 | RO MIE F—V XA
%8 12 — 15 B ==
A-6 ~F—VXA O 13— 15 2 SBOST XOZA MIE
188
JIO—F JOVZDE B7OVDOTHEJ—D
T B B DI TTIFE =& "
¥Y| Th® ' Te ElElE B[ E] = s "B ®
e | CS5ESVC-A 1 2 2 5 (o040 | 76 102|075 | 4 3
= X 2 1 5 2 [250 |93 | 78 [ 119 [5 2
il HDE 3 @) 6 1 |600 [104] 61 |170 |6 1
=50 i VRC 0O 3 1 6 |o17 | 72 [104[ 069 |3 4
B | F—0% R 5 B = F—10% = =
e 17— 16 B )
J-1| CHESVC-A| 2 12 — 15 1 i VRC MHOE
15  — 11
== 9 — 15 %3 ®E
J-2 X 1 16— 14 2 HDOE CDESVC-A
8 — 15
55 4 — 15 58 =
J-3 | THESVC-A O 10 — 15 2 HDE i VRC
== 15  — 9 = ®E
J-4 XE 2 15 — 7 O #FVRC ZOHESVC-A
5 10 — 15 = e
J5 | CHESVC-A| O 8 — 15 2 *x= HOE
B8 15  — S B =
J-6 HOE 2 15 — 6 0 #iVRC K




288 \
1«21 )—=2
B By FE FITE R 5 o
% = = ES R 8 ES T | R ~
2 1 4 3 [133 1921 8 [103 |5 3
O 3 1 6 1017 | 82 104 [079 |3 4
2 1 5 2 250 |99 | 88 [ 113 [5 1
B1fiz HDE 2 1 4 3 1133 [100| 92 [109 |5 2
B F— LB SEIEEEEE F—Ah & = ¥f
A2 13 — 15 B1fi1 A1
A-1 SBOSD O 11 — 15 2 HOE =V XA
B2 13 — 15 A1 AR
A-2 = O 11 — 15 2 F—V XA SBOSD
A2 B) — 15 A1 B11i
A-3 SBOST 2 15  — 11 1 F—V A HOE
15  — 11
B2 15  — 13 B1 {1 A2
A-4 = 1 14 — 16 2 HOE SBOSD
7 — 15
A2 15  — 10 B2fi1 AT
A-5 SBOST 2 15  — 12 0 XE F—V XA
AT 17 — 15 B1 {1 B2f
A-6 =V XA 2 15  — 11 0 HDE K=
288
JIO—F J0YVADE 341l )—2
o . B B 2w R AR 2 N
w | TL% MpTeTEla[w[m[ &% |a B W
AT FPIST—X] O 3 |1 O] 6 |ooo |62 90 [069 |3 4
B4fi|  FiEVRC 2 1 4 3 133192 89 [103 |5 2
AN RDOZ~ MIE|[ 3 @) 6 1 600 [ 9O | 79 | 125 |6 1
B3fii] C5ESVC-A | 1 2 4 4 100 |111[106[ 105 [4 3
[EES F—AhB S AEES F—AhB | = #
AL 13 — 15 B3fi1 A3fI
J-1 | BP250—-X| O 10 — 15 2 COESVC-A |RDOZAF MIE
B4{i1 7 — 15 A3 ALTT
J-2 FTWVRC O 11 — 15 2 | RO+ MIE| RPDIS5D—-X
A4 \ 11 — 15 A3 B3z
J-3 | PS5 —-X| O 11 — 15 2 | RDOAF MIE| C5&ESVC-A
B4{i1 12 — 15 B3fi1 ALTT
J-4 $iVRC 2 15  — 11 1 COESVC-A | BPIS5D—-X
17 — 16
A4 e) — 15 B4 A3
J5 | /250 —-X| O 8 — 15 2 i VRC RO+ MIE
A3 15  — 11 B3fi B4
J-6 |RDOZA~ MIE| 2 9 — 15 1 COESVC-A FTWVRC
15  — 13




18

B

Bj ~ zﬁuamﬂ

ADDuD &)=

Ty R

> g N
g F-08 E % Bl & [ % [ 5[ & = = ® H®
II&E 2#SV.-C| 3 @) 6 3 200 [126][110][1.15 |6 1
=g Let}2sve 2 1 5 3 167 |111[101 [ 110 |5 2
a0 N-one 1 2 3 5 [060 ] 951108088 |4 3
BRI |LyFEYF—XZ] O 3 3 6 [050 [107[120[089 [3 4
5 F—AhB 8 B R F—AhB = il
5 15 — 12 BH] HD
B-1| &#%SV.C| 2 8 — 15 1 Ly FEYF—X N-one
15  — 11
== 15 10 58 RE
B-2 Let2svc 2 15 — 12 @) N-one FiES <V C
e 15  — 7 %3 F5]
B-3| &%S+V:C| 2 13 — 15 1 N-one Ly FEYF—X
15  — 10
== 15 — 11 = RE
B-4 Let’®svc 2 11 — 15 1 |y RFEYF-—X| B%S-V-:C
15  — 8
5 15  — 10 == )
B5| &%S-V.C| 2 15 — 17 1 Let’2Esvc N-one
15 — 13
%8 15  — 6 B B
B-6 N-one 2 10 — 15 1 Ly FEYFHF—X Let’2sve
16— 14
188
K3d—k ZAMUDOODE BT7OVOHE)—D
_ B B Ty &K ‘I”*r S ® N
T-LB T Te [ BlE[E F 1= 1w B WU
KDOSD 1 2 3 5 | 060 104 102102 [ 4 3
= MABRIKIES 3 0 6 1 [600 [103] 80 [ 129 [6 1
g | ESHTH5DPP | O 3 1 6 |o17 | 72 [102[071 |3 4
Z2%0 2 OS50 2 1 5 3 |167 [105[100] 105 [5 2
[EE F—AhB B B 2 F—AhB | = ¥
e 15 — 10 B B
K-1 KOST 1 11 — 15 2 BROS5T ESFHDPP
10 — 15
== 15  — 7 %3 ®E
K-2 | RBkiE=s 2 15  — 12 0 ES™FHDPP KOST
%5 ‘ 15  — 8 58 =ri ‘
K-3 KOS5 2 12— 15 1 ESHEHBDOPP BRI S5T
15  — 8
== 15  — 10 = ®E
K-4 | RKES 2 12 — 15 1 BXOST KOST
15  — 10
5 12 — 15 == T
K-5 KDO>J O 14  — 16 2 MIRKIES E=SFHDPP
%8 11 — 15 A BRES
K-6 | ESEFEHDOPP | O 11 — 15 2 BRO5T BRKIEES




28

B

Bj ~ ZZIRU D DER )=
B 5 v RE A YRR g N
TLB T e [ BlEIE Bl % |5 R W
A2 Let}Esvc 0 3 2 6 [033 |99 112|088 [3 4
B2fi| BXRDSD 2 1 4 3 [133 ]93] 89 |[104 [5 2
Al BFSV.C | 2 1 5 3 [167 1051100105 [5 1
Bifii] MIRKIES 2 1 5 4 125 [118[114[104 [5 3
5 F—AhB 8 s R F—AhB = il
A2HT 15  — 12 B1f1 AT
B-1 Leti®svc 1 12 — 15 2 MBRKIES Z73HSV-C
13— 15
B2 13— 15 A1 fI A2
B-2 BROST O 11 — 15 2 BHFESV+C LetEsve
A2HT 11 — 15 Ad i B1fi1
B-3 Let®sve 1 15  — 8 2 BHFES.V--C MIRKIES
9 — 15
B2 7 — 15 B1f1 ADTT
B-4| BROUST 2 15 — 9 1 FABR2KE LetEsvc
15  — 11
A2HT 9 — 15 B2fi AT
B-5 Let@svc O 15 — 17 2 BRIOST ZiES eV C
AT 12 — 15 B1f B2fi1
B6| &%S-V-C 1 15  — 11 2 MIRKIES BROS5T
10— 15
288
K:l—l\ AL D DE « A1) —2
\ B B Ty &K N1 YRR ® N
: FT-L® 'BTe Bl % [ Bl % |x " ©
Adfif|Ly FEYEF—-X] 3 @) 6 1 [600 [105] 80 [131 [6 1
B4fi| ESE50DPP [ 2 1 4 3 [133 191 [ 92 [099 |5 2
A3fi1 N—o_ne\ @) 3 1 6 (o017 | 72 1101 [071 |3 4
B3fi1 KO>52D 1 2 4 5 1080 [123[118] 104 [ 4 3
[EE F—AhB B B 2 F—AhB | = ¥
ALRT 12— 15 B3 A3
K-1 |Ly REYF-Z| 2 17 — 16 1 KDOST N-one
15  — 10
B4 15  — 10 A3 ALTT
K-2 | ESHBOPP | 2 15  — 10 0 N-one Ly FEYF—X
ALRT 15  — 8 A3 B3fi1
K-3 Ly REYF—X| 2 15  — 9 0 N-one KOS
B4 7 — 15 B3fi1 ALTT
K-4 | ESHEHBOPP | 2 17— 15 1 KOST Ly FEYF+F—X
15  — 11
ALRT 15  — 8 B4 A3
K-5|Ly REvF—XZ| 2 16— 14 0 ESFEHDOPP N-one
A3 ) — 15 B3fi1 B4
K-6 N-one 1 15 — 11 2 KOST ES/HDPP
12— 15




188
CIO—F Y)UNN—0DE AJOVIOEI—D
P _ S B8R v RE A YRR g N
K| T-h® mTe Bl EIE Bl R E s B W
IFE8 ] C5ESVC-A| 1 2 3 5 o060 | 95 [103[ 092 |4 3
= PRy DR 3 [0 6 2 300 [101] 82 | 123 |6 1
| ~—VAZB O [ 3 1 6 [017 [ 64 [102]063 |3 4
=gl AN 2 1 5 2 250 |97 70 1139 [5 2
5 F—AhB 8 s R F—AhB = il
5 13 — 15 BH] )
C-1| CHESVC-A| O 10 — 15 2 IS I ~—VXZB
== 15  — s 58 RE
c-2 PRy 2 15 — 7 0 F—VYAB CHOESVC-A
e 15 — 13 %3 F5]
C-3| CHESVC-A| 2 12 — 15 1 F—VXZB IS A
15  — 10
== 15  — 12 = RE
C-4| PRvYIDIZR 2 6 — 15 1 T I CDOESVC-A
15 — 10
5 s — 15 = )
C-5| CHESVC-A 1 15 — 5 2 VEZASVEIVA F—VXZB
7 — 15
%8 9 — 15 B \ ==
C-6 F—V B @) 2 — 15 2 IS I PRy IR
188
L3—F YV)UN—0DE BIJOVITE)—D
_ B B Ty &K N1 YRR ® N
Y| TAE T e Bl E [ E BlE % |n B W
HRO | 2 1 4 | 3 |133 |83 89 |093 |5 2
= WEmo>D 3 0O [& O |600 |90 [ 44 [205 |6 1
e ) AR O 3 2 6 033 |82 [111]074 [3 4
2R | F—AE=Y 1 2 2 5 [040 |82 ] 93 | 088 [4 3
[EE F—AhB B B 2 F—AhB | = ¥
e 15 — 12 B )
L-1 HIRO 2 15  — 11 0 F—AER=T SERNERER
== 15  — 6 %3 ®E
L-2 | mEmo>7 2 15  — 7 0 =2 INTES] HIRO
55 15 — 11 58 =
L-3 HIRO 2 9 — 15 1 SERATERER F—AE=T
15  — 10
== 15  — 9 = ®E
L-4 | mBmo>7 2 15  — 8 0 F—AE= HIRO
5 9 — 15 =5 )
L-5 HIRO 0 5 — 15 2 memo>7 SERNERER
%8 13— 15 B ==
L-6 p=E NS 1 15 — 12 2 F—AER=T mwamoST
5 — 15




28

B

CIO—F Y)U/IN—DEL 1«21 =2
TThE rpreleEla[w B[ % lal B W
A2{\1 AN 3 O 6 1 600 [104| 82 | 127 |6 1
B21i1 HIRO 0 3 3 6 050 [115]136[085 [3 4
Alfir] PRV DR 1 2 2 5 [040 [ 81| O2 |088 |4 3
Bifii| WWHHBOSD 2 1 4 3 1133 |101] 91 | 111 ]5 2
5 F—AhB 8 s R F—AhB ES il
A2 15  — 11 B1f1 AT
C-1 I 2 15  — 12 m8mo>7 PRI
B2 7 — 15 A1 fI AT
c-2 HIRO 1 16— 14 PRV IR T I
9 — 15
A2H1 15  — 9 A1 fi1 B1fi1
C-3 VAR WA 2 15  — 10 PRy mBmoS57
B2 16— 17 B1f1 AT
C-4 HIRO 1 17— 16 mw8mo>T 5 I
10 — 15
A2 13— 15 B2 AT
C-5 VAR WA 2 16— 14 HIRO PRy 2
15  — 11
AT 10 — 15 B1fi1 B2fi1
C-6| PRwOUR | 0| 8 — 15 mamo>7 HIRO
288
LO—F J)U/IN—DEP 341l )—2
@) _ B B Ty &K N1 YRR ® N
: FT-L8 T e Bl El X Bl E ] & | B WO
A4 {1 ~F—VAB 0O 3 @) 6 |000 | 61 [ 91 |o67 |3 4
B4ft| ERUER 1 2 1 4 1 4 100 [103][ 104|099 [4 3
A3 CHESVC-A| 2 1 4 3 1133 [ 90| 89 [101 |5 2
B3| F—AFE=’7 3 0 6 1 [600 [104] 74 | 141 |6 1
[EE F—AhB B B 2 F—AhB = ¥
ALRT 9 — 15 B3 A3
L-1 F—V 2B O 10  — 15 F—AE=T ZDESVC-A
B4 15  — 12 A3 AL
L-2 P=E NS 1 8 — 15 _OHESVC-A F—VAB
12— 15
ALRT 10 — 15 A3 B3fi1
L-3 ~—VXZB O 14  — 16 COESVC-A F—AE=T
B4 10 — 15 B3fi1 AL
L-4 P2 NTES] 1 16 — 14 F—AE= F—V B
12— 15
A4 ) — 15 B4 A3
L-5 ~—VXZB O 10 — 15 =2 NS CDOESVC-A
A3 6 — 15 B3fi1 B4
L-6 | CHDESVC-A| O 11 — 15 F—AER=T p=E NS




188

HZ] b U« —RDEP A7D‘J9 Z—=J

B 5 v RE A YRR g
K| Th® T elElEIE Bl &= | B O
II&E JEatiEs 3 @) 6 1 600 [104| 61 [1.70 | 6 1
=5 K-CLUB 2 1 4 2 200 | 77| 60 128 |5 2
S8 ROUGH 1 2 3 4 (075 184 1100[084 |4 3
TR | IV D5/ O 3 @) 6 |000 | 47| 91 |052 |3 4
[El&3 F—AhB 8 B R F—AhB = ¥
55 15 — 6 4] e
H-1 j=Fitd 2 15 — 3 O | AIN=YDO35T7 ROUGH
= 15 — 12 25D s
H-2 K-CLUB 2 15 — 6 0 ROUGH j=2F:Ed
e 14 — 16 %3 BH
H-3 ==k 2 15 — 9 1 ROUGH AMN=YDS5TZ
15 — 10
= 15 — 8 B4 e
H-4 K-CLUB 2 15  — 4 O | AIN=YDO35T7Z =<t
& 15 — 7 == B0
H-5 j==Fitd 2 15  — 10 0 K-CLUB ROUGH
%3 15— 12 A RE
H-6 ROUGH 2 16 — 14 O AN—YDS5T7 K-CLUB
188
I:J—I\ LT« —2DE BTJOAOVIOT&E -
R B B v T YRR % N
T-LB g Te [ BlE[E Bl L] % |~ R @
HD= 3 @) & O [600 90| 58 [155 |6 1
/ERO 1 2 2 5 1040 | 85| 87 | 098 | 4 4
#2fd | Cloud Nine 1 2 3 4 (o075 |92 | 95 [097 [4 2
B JUITSVR 1 2 3 5 [oe0 | 88 115|077 [ 4 3
(=& F—AhB B B 2 F—AhB | = ¥
%3 15— 9 A B
-1 HPE 2 15 — 10 0 LTSV R Cloud Nine
= 10 — 15 By B0
-2 ZERO O 13— 15 2 Cloud Nine HO=
%@ 15— 13 25D =
-3 HPE 2 15 — 8 0 Cloud Nine JUIS5VR
= 14 — 16 B4l B0
-4 ZERO 2 15  — 6 1 JUTS5VR HDE
15  — 5
%8 15— 12 == B
-5 HDE 2 15 — 6 0 ZERO Cloud Nine
ey 15— 10 Al ==
-6 | Cloud Nine 1 16 — 17 2 JUITS5V2R ZERO
10 — 15




288 \
HO—F U714 —2DEP 121 )—D
_ S B8R v RE A YRR g
T-AB T lTe Bl [ E Bl 5%|s ® ©
A2{i1 K-CLUB 1 2 4 4 1100 | 95 [102[093 [4 3
B2{ii| Cloud Nine 0O 3 @) 6 |000 | 58] 90 |064 [3 4
AT oot 3 @) & 2 [300 |[116] 83 [ 140 |6 1
B1fiz HD= 2 1 5 3 167 [102| 96 [106 |5 2
5 F—AhB 8 s R F—AhB = il
A2HT 15  — 13 B1f1 AT
H-1 K-CLUB 1 11 — 15 2 HDE j=<Fitd
7 — 15
B2 11 — 15 A1 fI ADTT
H-2 | Cloud Nine @) 11 — 15 2 j=2F:E K-CLUB
A2HT 15  — 13 AT B fiz
H-3 K-CLUB 1 8 — 15 2 j=opiE HOE
9 — 15
B2 10 — 15 B1f1 ADTT
H-4 | Cloud Nine @) 10 — 15 2 o Ok K-CLUB
A2HT 15  — 8 B2 AT
H-5 K-CLUB 2 15  — 8 0 Cloud Nine j=2Fic
AT 15  — 7 B1f B2f
H-6 j=2F:d 2 13 — 15 1 HPE Cloud Nine
15  — 7
288
IJ—F U1 —2AD% 341l )—2
A _ B W D= RAIVFE & "
: T-L® B Te Bl % [ Bl % |x " ©
A4 A=Y 2D>5T7] O 3 1 6 |017 | 73 [102]| 072 |3 4
B41i1 /ERO 2 1 4 3 133 [ 90| 84 |107 [5 2
A3fi1 ROUGH 1 2 3 4 075 |1 82| 83 |099 [4 3
B3l JULITSVXR 3 0 [& 1 |600 |96 | 72 |133 |6 1
[EE F—AhB B B 2 F—AhB | = ¥
AT 12— 15 B3 A3
-1 [RINR=YD35TZ| 0O 10 — 15 2 LTSV ROUGH
B4 15  — 7 A3 A4
-2 ZERO 2 15  — 13 0 ROUGH AMN=YDIS5TZ
ALRT 5 — 15 A3 B3
-3 | RIR—=YDS5TZ| O 12 — 15 2 ROUGH JUIS5VR
B4 5 — 15 B3 A4
-4 ZERO 0 13— 15 2 JUTSVR | AIR=YDSTZ
ALRT 15  — 12 B4 A3
-5 | RIR=YDS5TZ| A1 12 — 15 2 ZERO ROUGH
7 — 15
A3 15  — 6 B3 B4
-6 ROUGH 1 4 — 15 2 JUITS5V2R ZERO
13 — 15




